HBHERA—5— XA K
XC7T1:ANUH— RO

XC72: 74— P24y FRBMAENEART S &

BAug—raLis

HA RRFABRFRLBEN)F— AL ELEY (T,

RRELS

@A) —X

SU—ZX % S B3 = EEROBEA—

MGG |1 KU vs MGG HE O P.668~
BARTHE
MGG [#Z s | B| F—baLoEfE|—[z2 ro—2]|—-[7#— 21 vF|—XCT1

BEAH dauy—raos
Ttk
B —Z MGGLIB

F1—7HE(mm) 20, 25, 32, 40, 50

RAEHRER EAF
[ s ot [ BEEREEL

G2 T AR (Frust o EER L B —)

220~050
EEAXHAUH—F)
. [% i =
— & i
el |o o
= -
5 s ==
BXAF(ALH—F)
© 1
1= 5
Ik ]

BB 4— r 24 v FERMEREATS

A— 21V FRBERNERT YA 7,

BAU—Z

(mm)
?:L(mrz)m H AF
20 MBX1R12 M5X0.8R7.5
25 M8X1.25%16 M6 X 1379
32 M8X1.25816 M6 X 129
40 M10X1.5%%20 | M8X1.25%12
50 M12X1.75:%24 | M10X 1.5%15

KRS

M)=Z

&/ 1R

B fEBS

i

FEREOBHA-Y

MGG | fi1 Ry

MGG HEEZ

O P.668~

BRAKRTHE

MGG | BERRR RS EERT | —XCT72

#F—b24 ‘y?FﬁFBEWEKEJEl

ik
ERS =X MGG
F1—JRE(mm) 20, 25, 32, 40, 50
A—rRAVF BRI R A
[ LEMADHES L UM T | BEREFL

1558



